Location  Quantity Needed Quantity Sent Description Note

(1

Green Box 144 150 Crossdowel, 1/4"-20TPI, 3/8"Dia., 5/8"L Baggie had a green sticker marked 142
Green Box 153 115 Pan head machine screw, combo phillips/slotted, 1/4"-20TPI, 1-1/2"L Came divided 49+66 in two baggies
Green Box 3 3 Eyebolt, 1/4"-20TPI x 2" shaft, 1"OD - 9/16"ID head
Green Box 3 3 Hose clamp, 5/8", screw type
Green Box 19 16 Flat washer, 1/4"ID, 9/16"OD
Green Box 16 16 Flat washer, thin, 3/8"ID, 5/8"OD Used to space out v-groove bearings. Washers have 3 cuts outward from the inner ring.
Green Box 18 18 Pan head machine screw, combo phillips/slotted, #8-32TPI, 1-1/4"L
Green Box 18 18 Nut, #8-32TPI
Green Box 24 22 Flat washer, 3/8"ID, 13/16"OD
Green Box 2 2 Shaft coupling collar, 1/4"ID, 3/4"OD, 1-1/8"L
Green Box 1 1 Shaft collar, 1/2"ID, 1-1/8"OD, 3/8"L
Green Box 1 1 Anti-Backlash Nut, 1/2"-10TPI @ 5-starts
Green Box 1 1 LoveJoy Shaft Coupler End, Unkeyed, L-050, 1/4"ID, #M898380
Green Box 1 1 LoveJoy Shaft Coupler End, Unkeyed, L-050, 1/2"ID, #M140490
Green Box 1 1 LoveJoy Shaft Coupler Spider, L-050, "B A B 80" Unpackaged, no part number
Red Box 14 12 Pan head machine screw, slotted, 3/8"-16TPI, 2"L
Red Box 7 8 Pan head machine screw, combo phillips/slotted, 3/8"-16TPI, 3"L
Red Box 42 42 Pan head machine screw, combo phillips/slotted, 1/4"-20TPI, 2"L
Red Box 4 4 Pan head machine screw, combo phillips/slotted, 1/4"-20TPI, 2-1/2"L
Red Box 4 4 Pan head machine screw, slotted, 1/4"-20TPI, 3-1/2"L
Red Box 14 27 Pan head machine screw, combo phillips/slotted, 1/4"-20TPI, 3"L
Red Box 77 74 Nut, 1/4"-20TPI
Red Box 33 28 Nut, 3/8"-16TPI
Red Box 2 2 Bearing, 1/2"ID, 1-18"0D, 5/16"T, #R8Z "RBI" Brand
Red Box 2 2 Bearing, 1/4"ID, 5/8"0D, 3/16"T, #R4RS "RBI" Brand
Red Box 2 2 Corner Brace, 1-1/2"Lx1/2"Wx1/16"T legs 2 countersunk screw holes per leg
Envelope 16 16 V-groove bearing, 3/8"ID, 1-3/16"OD, 15/16"OD groove 2 tubes of 8 bearings each
Envelope 3 6 Drive sprocket, 1/4"ID, 7/8"0D, 9 tooth
Envelope 6 6 Idler sprocket w/ bearing, 3/8"ID, 1-3/4"OD, 20 tooth, Dalton Gear #25A20-101 Bearing #1606RS
Envelope 1 1 Chain, 6', Flexon EcoPlus #25-1-B62610533
Envelope 2 2 Chain, 10', #HKK25-10FT
1 1 Ball screw, 1/2"-10TP| @ 5-starts, 8-3/4"L Would be better suited with a 12-13" lead screw, to use all available travel on the bearing rails.
2 2 Rod, 1/4"Dia., 26"L
2 0 Chain, 3' Could also send one 6', and cut it in half



1. All quantities counted twice.
--guido.kimble 3/23/2010 11:57:41 PM



